#7797 rename Hash to StrictHash
and create a new Hash to behave
like HashWithIndifferentAccess

h['a'] I= h[:a] Is confusing
Most devs expect them to behave the same.
It leads to real world serious bugs:

https://github.com/blog/1440-today-s-email-incident

https://github.com/rails/rails/commit/f980289fd2¢c1b9073a94b5d49b780a49f5e2933c#L1L23

Symbols are popular because {a: 1} means {{a => 1}
Most devs treat symbols like regular identifiers
Many believe it will improve the app's performance and
won't see the overall performance impact of dealing with
their differences.


https://github.com/blog/1440-today-s-email-incident
https://github.com/rails/rails/commit/f980289fd2c1b9073a94b5d49b780a49f5e2933c#L1L23
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